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Erause

»4 (25 points)
Answer the following questions

a. Let X = (X,...,X,) be a random vector with joint moment generating function Alx(t). In class we dis-
cuss this theorem: Let AL(t) = "—‘;z‘s_m, Mu(t) = "’;"—.411, and A, (t) = °f,:’——§,"-‘l Then, EX; = AL(0),
EX? = AM(0), and EX.X; = Al;(0). Prove this theoremn when n = 2
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ExeRSE 6
(L \ P spointy [y = %:ree*

a. Suppose U ~ [(a, 8), with @ >0, > 0 and let V" = . Find the probability density function of V.
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b. Refer to part (a). Find EY and var{Y’). —_— ..(
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